B OEFERE Y — TEFEAS ( B 2 & ] SEHE T B
IE ALV h | B %8 % |BuM| KoM IR | BAE [FobE
T | TIl—TJxz=ZwvwH R | 23 8 1 17 4 | 49250 [1.413 | -
2 |AQUA 21 7 2 15 5 3000 [1.322 | 2
3 |ICLAP 19 6 3 15 7 2143 [1.094 | 4
4 M1 nt 17 6 3 14 9 |1.55% |1.115 | 6
b |[Scorpilon 14 b 4 12 11 |1.091 [0.963 | 9
6 |[Peace 12 4 5 10 13 [0.769 |1.051 | 11
7 |y Ta4—RX 11 4 5 9 12 o750 [1.017 | 12
8 |k RT L Y 8 2 7 8 16 |0.500 |0.855 | 15
9 (MU Z 7L 20X 6 2 7 5 14 |0.357 |0.696 | 17
10 |[Z7)—RL 3 1 8 3 16 | 0.188 |0.664 | 20
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